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6X -3y + 2

1)y
() 2x -y -1

. b6x-3y+2

d
y :>(2x—y—1)—y—(6x—3y+2):0

2x -y -1 dx
= (2x-y-1)dy - (6x -3y +2)dx =0
Ohilsie Mad (2x -y =1=0),(6x -3y +2=0) Oxbal
dz dy dy

@%@\MAM\QZZZX_y: — 2 _ = = = -2
dx dx dx

(3z2+2) 2z-2-3z-2 —(z+4)
z-1 z -1

jdz = —dx

zZ+4
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jdz=—jdx:> z-5In(z+4)=-x+¢
= (2x-y)-5In(2x-y+4)=-x+cC
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(1)y{4y+sin(2xy)}dx+ x{8y +sin(2xy)}dy =0

y{4y+sin(2xy)}dx+ x{8y +sin(2xy)}dy =0

let

P(x,y) y{4y4—ﬂn(2xy)}::4y2+ ysin(2xy)

Q(x,y)=x{8y+sin(2xy)} =8xy+ xsin(2xy)

oP
— =8y +sin(2xy)+ 2xycos(2xy)

ay

0
,—EL::Sy-+sin(2xy)+-2xycos(2xy)
OX

OSag &Aﬁ&ggiﬁxbuAugJQLzuﬂ\MﬂzA\Q\Gﬁgg;tggf:: QEL o sl

oy oX

2 _ , Cos(2xy)
[P(x,y)dx=[4y" + ysin(2xy)dx =4xy P

_ , cos(2xy)
,IQ(X,y)dy::I8xy+—xmn(2xy)dy:4xy +'——7;———+c

, cos(2xy) .
Axy" + ———————+ ¢ =0 saalalllgds S
2
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